E+n

x 1000

(kg/

8.6E+0

1.6E+2

168.6

168.6

10E-1

10E-1

0.2

0.2

Olo|N|o|O||lwWIN]|F-

=
o

6.0E+1

9.0E+2

960.0

960.0

[
[N

4.0E+1

2.5E+1

65.0

65.0

=
N

1.1E+0

11

4.3E+0

4.3

54

=
w

=
~

9.0E+0

9.0

9.0

[y
[$3]

=
»

[
~

[N
[e2)

=
©

N
o

N
[y

N
N

6.3E+1

63.0

63.0

N
w

N
~

N
ol

N
»

N
~

7.9E+0

7.9

2.0E+0

1.1E+3

1,102.0

1,109.9

N
(o]

10E-1

0.1

1.1E+3

1,119.0

1,119.1

N
©

w
o

w
e

w
N

w
w

w
~

w
a1

2.9E+1

29.0

29.0

w
»

w
S

w
@

w
©

IS
o

~
=

N
N

N
w

~
~

N
(8]

IS
<)

~
b

8.1E+0

1.2E+0

9.3

15E+2

3.4E+3

3,519.9

3,529.2

[N
N




